
N = 2569
2569 circles in a circle

radius =   0.018499401013
ratio  =  54.055804254517

density  = 0.879183315438
contacts = 4763
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N = 2570
2570 circles in a circle

radius =   0.018494786359
ratio  =  54.069291776577

density  = 0.879086804752
contacts = 6670
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N = 2571
2571 circles in a circle

radius =   0.018483407340
ratio  =  54.102578686399

density  = 0.878347047862
contacts = 6064
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N = 2572
2572 circles in a circle

radius =   0.018478719382
ratio  =  54.116304238190

density  = 0.878243016022
contacts = 6007
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N = 2573
2573 circles in a circle

radius =   0.018477652861
ratio  =  54.119427804742

density  = 0.878483064941
contacts = 5506
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N = 2574
2574 circles in a circle

radius =   0.018470090682
ratio  =  54.141585834217

density  = 0.878105298944
contacts = 6631
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N = 2575
2575 circles in a circle

radius =   0.018477671454
ratio  =  54.119373346474

density  = 0.879167681595
contacts = 6782
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N = 2576
2576 circles in a circle

radius =   0.018463481941
ratio  =  54.160965045576

density  = 0.878158825987
contacts = 6744
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N = 2577
2577 circles in a circle

radius =   0.018453425301
ratio  =  54.190481370095

density  = 0.877542989081
contacts = 4727
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N = 2578
2578 circles in a circle

radius =   0.018452450826
ratio  =  54.193343173874

density  = 0.877790803129
contacts = 4888
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N = 2579
2579 circles in a circle

radius =   0.018453322341
ratio  =  54.190783726047

density  = 0.878214246866
contacts = 4453
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N = 2580
2580 circles in a circle

radius =   0.018447357734
ratio  =  54.208305300121

density  = 0.877986918960
contacts = 4395
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